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MEMF1BO(n):
if (1< 2)
return n
else

X

/\(Q[\ \\O\\U\C;

if F[n] is undefi
F[n] <« MEMF1BO(n — 1)+ MEMFIBo(n 2)
return F[n
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a" = { (a"/?)? if n > 0 and n is even
(al"/2))2.qa  otherwise

PINGALAPOWER(a, n): — W

ifn=1
return a D (_/LX:‘

else |
x « PINGALAPOWER(a, |n/2))
if n is even - V\ N

retur, .
else O('
N~ a ”| @L\C& C } ) g
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(a2, q  otherwise

CRR
PEASANTPOWER(a, n): /U V\/@m
ifn=1 \ Q\\J{\S
return a u\'\—‘F «C
else if n is even
return PEASANTPOWER(a?, n/2) @ N
else m7 a CQD

ifn=0
a" =< (a®)V? if n > 0 and n is even

| return PEasanTPOWER(a?,[n/2]) - a | — -
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Given two indices i and j, where i < j, find the longest increasing
subsequence of A[j..n] in which every element is lar%er than A[i].
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ifj >n / C
LISbigger(i,j + 1) if Ali] > A[j
DLISbi [,

otherwise
1+ LISbigger }
-




else if A[i] > A[j]

—_—

<return LISBIGGER(i, j + 1)

else

skip\e— LISBIGGER(i, j+1) —
také «— LISBIGGER(J, j + 1)@

return max{skip, take} —
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return 1 + best




el vusen:

1IS(A[1..n]):
LIS(A[1..n]):
P 1t0nD (fg%“?\
<bes n LISFIRST(0) — 1
return bes B —
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LISFIRST(i):

best «— 0

for j aliﬁb
Z) o

best «— max{best, LISFIRsT(j)}

W}/ return 1 + best




